
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

1st Month, 4th Week, 5th Day Revision Test (4th Week)

Q.1. Choose the correct options.   (1x13 = 13)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Formula to calculate the number of digits in the square root

of a number if its number of digits are odd:

ËËËË°°°°ŠŠŠŠÆÆÆÆ____....ggggÆÆÆÆyyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™ääää»»»»ÃÃÃÃggggññññÑÑÑÑZZZZ¤¤¤¤////ZZZZkkkk°°°°ŠŠŠŠÆÆÆÆyyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠ¤¤¤¤ttttƒƒƒƒÂÂÂÂ::::

(a) (b) (c) (d)

(ii) The length of side of a square is 55m. What is the area of

square?  ¢¢¢¢aaaaììììXXXX%%%%,,,,»»»»ggggKKKKHHHHìììì???? 55 ZZZZqqqq----%%%%,,,,ÆÆÆÆIIIIÅÅÅÅMMMMðððð

(a) 2025m2 (b) 3015m2 (c) 3025m2 (d) 2015m2

(iii) Cube root of 9261 is: »»»»____....ggggZZZZÅÅÅÅ))))½½½½ššššïïïï
EEEE

ìììì:::: 9261

(a) 19 (b) 23 (c) 25 (d) 21

(iv) Square of 0.9 is: »»»»%%%%,,,,ìììì:::: 0.9

(a) 0.081 (b) 0.81 (c) 8.10 (d) 81.027

(v) The number of digits in the square root of 66564 is:

ÆÆÆÆ____....gggg~~~~yyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠìììì:::: 66564

(a) 6 (b) 5 (c) 4 (d) 3

(vi)  Cube of 1.1 is: »»»»kkkkìììì:::: 1.1

(a) 1.033 (b) 1.33 (c) 1.331 (d) 1.313

(vii) Irrational numbers are non-terminating and _____ numbers.

ZZZZ°°°°ZZZZŠŠŠŠ))))********êêêêƒƒƒƒDDDD÷÷÷÷:::: _____ ))))−−−−ZZZZzzzzgggg
(a) rational **ê (b) non-recurring   )áZà

(c) recurring                áZà (d) decimal             ŸZ(gt

(viii)  

(a) 4 (b) 14 (c) 41 (d) 2

(ix) How many number of digits in the square root of 114921?

ÆÆÆÆ____....gggg~~~~yyyyÎÎÎÎVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠXXXXìììì???? 114921

(a) 3 (b) 4 (c) 5 (d) 6

(x)  If the side length of a square is 0.5m, then its area is:

¢¢¢¢aaaaƒƒƒƒÂÂÂÂZZZZkkkk»»»»ggggKKKKìììì:::: 0.5 ZZZZ¤¤¤¤////ZZZZqqqq----%%%%,,,,ÆÆÆÆIIIIÅÅÅÅMMMMðððð
(a) 0.50m2 (b) 2.5m2 (c) 0.25m2 (d) 25m2

(xi)  

(a) 0.02 (b) 2.0 (c) 0.2 (d) 20

(xii) Which of the following is the perfect cube?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ååååkkkkìììì????
(a) 1656 (b) 1708 (c) 1728 (d) 1248

(xiii) Which one of the following is perfect square?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ZZZZqqqq----åååå%%%%,,,,ìììì????
(a) 25.6 (b) 0.256 (c) 2.56 (d) 2560

Q.2.  Answers the following questions. ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]ŠŠŠŠ,,,,XXXX
(i) Find the number of digits in the square root of 2119936.  (4x2=8)

Æ_.g~yÎVÅ®ZŠ¥x™,X 2119936

(ii) Find the cube root of . _.gZÅ)½šï
E

¥x™,X »

(iii) Round the following to the given degree of accuracy. 

Šb‰Šg„yÎVJ-özŠ™,X

(a)     (2 d.p) (b)    0.078952   (4 s.f)

(iv) Find the square root of the following:   Šg`fs»_.g¥x™,:

(a)   (b)  

Q.3.Identify properties of real number. (2×2=4)

(i) 25 + (7 + 5) = (25 + 7) + 5 (ii)
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